T0500.t04 CB8-sep9

2
1
= =
— ==
‘?YE* e = =2 B e ST ——— ==
AAGPYAT ORR VGRSHSVRAPAGADKNVNRSQSFAVRPRKKGPPPPPPKR
() C
ﬂ‘ L0
|m|||||||51 Ll 1o 1] |51 | > HENE
A FEHJHJG EGE F E HEA E A EAEFGEG E A EHGTI
SSSALASANLADEPVPDAEPEDGLLGVRAQCRRASDLAGSVDTGSAGSVK
— (@]
[Te) o~ OO C
|m||||||f|| o | LLLIS L1 |51 LLL IS
J IKIJH E D A E HEFE A BEA FEHEFEFEFEAE A

S
—
|—| (\] m <f‘ Lf‘
RN [ 1= | I = s I I A I
EA EH FE A E A E AEA DA E
2
1
Eenel 2. -2 o _E  __—o2biblas =22c = B2

GPGGEVVNRRRTLSGPVTGLLATARRGPGESADPGPFVEDGTGRQRPRG
— C

l\ OO
4 ||éﬁ||| HEENEE S L1l L= 5
A E A E A E A EAEHE F A E A E A



